SH4EEAGR (G 3EEE OERER
WIS I HIEE I DWW T

ARDXT | —REKk (IR

FIRERE | BT S F RS A T LRER

HE - REG | RS MR -

(A SO HREE )

IR REG 2R T,

A - R
X3 &
(1 4% ) B X

fii %




= fﬁﬁ E &
# % B & 5
. = R - e
ﬁg % H% 7‘%& (4 Feomh 1)
1 ~
(1) i =077 A INE LY
3 INE LY A Bk FE F A
@ 2Y)—ITTFHE (SEMIE)
G Y —IT7HE (BEME) , HBHE T—5—®E
(4) RBOONDLENEF (c) 1
ks s o | 5 o
JL—hrORHAHITE Y HEETIEM RN
~Bl o R B AN EEBENT, TAYREY—
MBI LA WS, | |
(5) B/OLNAEHRE (b)
i B 5 A 10 15 ‘ : 20
—ﬁ&(:iﬂ%li?1ﬁ@iﬂl§l;_83 ﬁ'_g)ﬂ’gl%‘
DEHDBHINMNBDEOHEBEMMXRKEZTCIHEY], (EIC
MEBLLIZERMBERD TEIOEEDKXKE W
oA H R ICHE D H,
(6)

&oT, x=1.1%x10°m

BEZ:IKEKRDEX(Z,

ALEL Mg OMERE S[m2) &5 &
3,300 [kg/m3] % 320 [m] X S [m?] + 2,700 [kg/m3] X 35,000 [m] X S [m?]
=920 [kg/m3] X x [m] X S [m2]+ 2,700 [kg/m3] X 35,000 [m] X S [m?]
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3.5°C 1700[m] X 0.5/100[°C/m] = 8.5[°C|SBAS & & (=
Thd, &2TI12.0-85=3.5°Cl.

&) | 33.5°C | AE :3.5[°C]+3000[m] % 1.0/100[°C/m] = 33.5[°C].
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